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Sec 1.4 Building Functions from Functions
Sum: (f+g9)(x) = f(x) + g(x)
Difference: (f - g)(x) = f(x) - g(x)
Product: (fg)(x) = f(x) - g(x)

Quotient: (f/g)(x) = f(x)
g(x)

example:
f(x) = 3x° + 2x + 1 g(x) =2x*-4x -7

find:
(ro)0= (3+axe1) + (ax“u4x-7) = 6x*-2x -0
(f-9)x) = (3X+2xa1) + GxCevxir) = X +0Y #
()= (3xs 2x4 1) (2x% 4x-7) =
X = 1253217 + 4 - 3¢ 14y #2x'-4xe7
(qu‘ix3~27Y1~ 15y ~7

(f/a)(x) = 3x%p2x+)
24\
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ex. Find f/g. State the domain.
f(x)=\/3x+6 =0 g(x) _1
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You do:
Find f/g and state domain.
3
7 (x)=NAx=8=s g2
D: 2, D (co0,0) v (0, )
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